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HISTORY
( Honours )
Paper : HIS-HC-5016
( History of Europe )
Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer any ten of the following questions in

1 word or in 1 sentence each : 1x10=10
wero full R (I Wbt 2q AfSoR Te «by *= A
by TS
(a) What was the main slogan of the French
Revolution?
10! Rergq =1 34 & oifeet 2

(bp) Who was Necker?
TP (1 i1fRe 2
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()

(2)

By Wthh Treaty, Napoleon
el p was exiled to

@A S SPR cerfree we R Rt

| < e et 2

(d)

To which dynasty Lou1s Philippe-

’ belonged?

| \_ ﬁ?ﬁ‘ﬁﬁ CRTICHT ERT 1fe 2

(e)

(9

L)
i

0

.Cmﬂamw
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What do you mean by capltahst
industrialization?

et Somien W R qen2

What is the meaning of the word
‘bourgeoisie™?

“Fesirr 1wy R 2 '
Who authored the book, The Condition |
of the Working Class in England? ‘
-The Condition of the Working Class in
England 5837 359 (I ?

What was the ‘Zollverem’?

‘TEiceRa’ & wifee 2

What was the Reichstag’?
Wﬁ ﬁs wifet 9

When was the D
octrine of P
Infallibility’ announced? apal

2
tafRer 2 WIS IR 34T
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(3)

Who was the chief architect of the
Unification of Germany?

S TSR IR T TRE I ST ?

Name the Italian State that Cavour
wanted to make the Tdeal State’.

eI “omed g’ Roteet a1 o Red B
IR W o

Who was Garibaldi?
RS R ERA?

Who was the representative of France in
the Paris Peace Conference?

o 3 TS FFE ARAR @ ke ?

With which country was the Treaty of
Trianon signed? :

TR (P TS BRI A TR (e 2

What was Italia Irredenta?
i Tced” WA 2

In which year the Young Turks’
" established their rule in the Ottoman

Empire?

W PR WA @ 5O SO AR S

o1 +RfRe 2
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(4) (S)

() Who was victorious in the Franco- () State two characteristics of capitalism.

Prussian War, 18707? e 701 CafEs for |
FE E FRAF T@o (Srao) (FA THATS (g9 Mention any two characteristics of the -
e 2 Constitution of 1791 in France.
FFE Sadd H9 MRYFT R’ @I 101 3y
TCEy 90
2. Answer any five of the following questions in
brief : 2x5=10 (h) Write two impacts of urbanization.
waTe il ehprie R e +ifohm vt Ted AR 61 2O e
(a) Who and when took the Tehnis Court a5 .the R O War, : i
Oath’? contributed towards the unification of
; g A Germany and Italy?
o 763 71 A W (e Catfieet 2 {' Yoy T NG -HRR FaR T W DI
(b) Name two important writings of ‘ TGP (T T oI 7
Montesquieu.

() Which Treaty terminated the Second
TCBF T3 SCEACAIO0 2% AN o | Balkan War?

@R TR RO T T 7
(c) Write the names of two Jacobin leaders bl SRR

of France.
T & (TP (TOR T ford | 3. Write short notes on any four of the
following : 5x4=20

(d) Mention two terms of the ‘Concordat’.
oo TR R e wifveR fva o ol e

‘3 701 56 Tead 41 |
(e) State two results of the Revolution of (a) Voltaire
1848. ST
Sv8b 59 [Red ’ﬁﬂ Fofrpe] foray | " (b) Internal Reforms of Napoleon

AR SIeRal TR
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(6) (7)

© Con;er;t offEurope (c) Describe the continental system.
i ‘ TRy foa R i o
(d) Capitalism
e (d) What were the main problems before
(e) -Bo s the Congress of Vienna? What measures
R were adopted by it to solve these
TS problems?
() Kulturkampf e wereR & & @ IR STHRE
TR 2wl 2 X SEPTPTRS SR S 2P
g ] 212¢ iR 2
(99 May Laws, 1872 { ] !
T T, Sy ‘
(e) Give an account of the causes and
(h) Foreign Policy of Cavour results of the Revolution of 1830.
PSS CACHAS e svoo T Reds A A FoIFPTR I -

ol

4. Answer any four of the following questions : () What changes were brought by

industrialization in the sphere of family
o9 PRI R e BifRhR ey fogy - and gender?
(@) Discuss the crises of the Ancien Regime ‘ sifamE o B cFqe Souaieaed & |
of France. by sifRge SIfIfRe ?
T P20 AR o 4 |

Analyze the social and economic
transformations of Europe in the
18th-19th Century.

s SEre-BAReT oo @S @Al
s S LA ARRETAR Reme 4 |

( Turn Over )

(b) How did Art and Culture reflect the o
French Revolution?

. Il P WF[0S T Reg Sare ofowfre
afRe 2
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(8)

(h) Give an account of the emergence and
development of Nationalism in Italy.

ifere SORORTE S W Rpr 9t RR
a1

() Map the History of the War of
Independence of Ireland.

SHRCAST TR0l Jaq AfeaBRe “Rew S
0

() Describe . how Bismarck made

diplomatic  preparations for the
.Unification of Germany.

oed & e onffe aehem Q@
WWW,W‘TWI
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HISTORY
( Honours )

Paper : HIS-HC-5026
[ History of India (1780-1857) ]

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer any ten of the following as directed :
1x10=10

©ofd 1 (lCeTl Wb e fepie i

(a) Where did the French establish their first
factory in India?

FIOIRCe SRS (OSEFT AN FRIF F©
o[ FfRe ?

(b) Who gifted Bombay (Mumbai) as dowry to
the British?
@A T (TAR)A Ape fRore Btz Torze
fafeet 2
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(e)

(9)
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(2

Which European country was the first to
trade by sea route in India?

I TEA T (AN SRS e
ST IR IR 2

Who wrote the book, India Today?
India Today 7] &%44 @1 FRRe 2

Who was the founder of the Sikh
Kingdom?

1Y I R Foi SRR 2

Who introduced the system of Daroga as
part of police reforms?

R AFRT O Row M 9 @I
ST ffRe 2

Who was the in-charge of collecting

revenue under the Mahalwari
Settlement?

TR TR SR e T222q S @
1fReE 2

Who introduced the Ryotwari
Settlement?

I IS IR 27 3w 2

( Continued )
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(3)

(i) In which year was The Asiatic Society of
Bengal established?

(Il I=8© The Asiatic Society of
Bengal ¥ 391 (%7 ?

() Who introduced the Doctrine of Lapse?

T9-RcE TS @I oxs Fiaee 2

(k) Which Act ensured the establishment of
the Supreme Court in India?

QR 3 Soe THew e oW FC0!
fAfve sfafee 2

() Which was the first Indian State to
accept the Subsidiary Alliance?

e fiqel A a2 F91 SO LI T
% wrifest 2

(m) Name the institutions through which
indigenous education in pre-British India
was carried out.

: Wﬂ@ﬁiwmmﬁﬂﬁmﬁm
41 eSS W fors |
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(4) (5 )

(n) Which of the following statements about

the Revolt of 1857 is incorrect? (@ Write any one impact of commer-

cialization of agriculture in India.
Svre s 5 FER Tefe oo (FCHT T e 7 TRes FA AMARIPFINR B Q0T @B 2R

(i) Absence of all India participation fert |

T SRSIHY @M SSI]
() Where did the Revolt of 1857 start?

(i) Lack of unity between the Hindus Srea 59 RuE $7C 9E (2% ?
and Muslims
R AF [T oo G351 o[
(i) Begum Hazrat Mahal lead the Revolt Answer any five of the following questions
in Bhopal ‘in brief : 2x5=10
QW T T (S Rewrma Grog i 2P e Sfese vt e f -
@ (a) Mention any two differences between the
( Choose the correct answer ) Orientalists and Utilitarians.
(o= Tech MR e ) oo T ScfTeRTe e & e
12l SeE F91
(o) Write any one economic impact of British
Colonialism in India. (b) Write two causes for the introduction of
t Settlement in Bengal.
S99 @ 35 @plﬁ(ﬁ ;45\') I ﬁ CPIC ‘QBT s Pemanenw% ZEL'{ T @T IR ‘f%.ran |
SLAF R e | R

(c) Why was opium cultivation important for
the British empire in India?

IfRE-3-@1 & ifew 2 sree Qg STEE @ Sves (s R/
gy wifee ?

A23/299

(r) What was Damin-i-Koh?
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(6)

(d) Choose and write the correct answer :

27 TSI 1R o4
Which of the following crops was brought
to India by the Portuguese?
ST (FIACAN *FT AN SO AR 2

() Mango / S¥

(i) Chilli / SR

(i) Rice / 4«

(iv) Tomato / Ren¥

(e) Match the following :

wers AR e :
Column—A Column—B
TE—F TT—

(i) Poverty and un-British (1) William Jones
Rule in India (Book) TN
Poverty and un-British
Rule in India (2%)

(@) The Asiatic Society of (2) Dadabhai Naoroji
Bengal

fr iRt ='=i30 S @rom St
(lll) Fort William (3) Madras (Chennai)
1o SR TS ((5a7)
(iv) Fort St. George (4) Calcutta (Kolkata)
FTo OT Bl FTTe] (Forepren)
A23/299
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(7))

() What is shifting cultivation (jhum)? Was
it preferred by the British?
s fs (W) [ ffte TR o=
e ?

(g9 What is deindustrialization?
fraraead 2

(h) Who annexed Awadh in British Empire?
Who was the Nawab of Awadh when it
was annexed?
o bR TS SE SR e 2
SRR TS S T (P fRe 2

(i) Name two leaders of the Revolt of 1857.
Srea B R o GTOR A fora |

() Name the two leaders of the Santhal
Uprising.
sreemE @RI o 1o T foran 1

. Write short notes on any four of tshe4 W
X4=

following :

w5 R I SRR 8T b (oIt ot

(a) Mercantilism
cEBiRe T
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(8) (9)

(b) Indigo Cultivation 4. Answer any four of the following questions :

St e ' 10x4=40
| o eppTgRd R (e BifReR T fr
(c) Subsidiary Alliance
. (a) With reference to the Carnatic Wars,
PIOYE e qife discuss .about the Anglo-Mysore
relations.
(d) Police Administration in India under the Tiee. 35 B SRy :
St fRCH SACemoel 40 |

East India Company

Se® 3 XA PHRR SRS (37 2

(e) Mahalwari Settlem (b) What were the factors that led to the
eht conflict between Mir Kasim and the
TR VA% English? What were its outcome?
Sty W XIEE TS AT IR
() Rural Indebtedness W?WW%W?

AT elerEe

(c) Discuss the orientalist perception of
India in the late 18th and early 19th

Macaulays frsy S - Centuries.
sy PR CRIFICE AE 38 Ao STBACS
SO TCERPIFA] OO Feocd AT YRl SCEOAl

(9) Macaulay’s Education Policy

(h) William Jones

TN (g
A23/299
! A23/299
_winued )

A
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(@)

(e)

9
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(10 )

Critically discuss about Ryotwari
Settlement.

IMRQ  IERT 9o THCEANE TR
HRTEA |

Critically discuss the theory of ‘Drain of
Wealth’.

o AR @b G SCEDTE {9
S[AFCAT |

Was there deindustrialization in India
during the period of your study?

(R S TIREe SHes  [8maNesd
GRS ?

Discuss about the occurrence of famines
in India during the period of your study.

COMR SR TRCERIS SHee (F{l 1w
e SCetw 41 |

Discuss the causes for the failure of the
Revolt of 1857.

Sr¢d b9 RCERY SPTeToR SRPIE ScEs=
41|

( Continued )

(11 )

(i) Write an essay on the forest policy in

0)

A23—4000/299

India during the early 19th century.

s SR TRTACS SFC® I-AIfed [RIF 93
o1 forn |

What were the causes of the Santhal
Rebellion?

Sreer Reured IRPHR e 2
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